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Exam Code :AADHI_8 Exam Date :26-05-2019
Version 137 Exam Time :12:30-14:00

Question No. 1

Usually, the twig of which tree is used to clean the teeth?
A)Neem B)Teak
C)Mango D)Banana

HAT: FT 93 i <gel (STe) T 39T Sid 9% e & foT R Sirar 82

A)reT B)maila
C)3m#H D)ahelr
Answer Key : A Your Response : A (Correct)

Question No. 2
A chemical equation is said to be balanced if number of-
A)Atoms are the same in both sides B)Compounds are the same in both sides
C)Electrons is the same in both sides D)Molecules are the same in both sides

farely TreTafa EeliERoT A HferT Fer S § A |

A)eret geil & JRATUL3T T HEdT FAR Bl © B)alaAr gait & Iifdrer 1 Tear @ e gidr §
C)aler gell & Sogeldl 6 &I AT sicl & D)eleit weil & L3t dr HEdr AR g §
Answer Key : A Your Response : D (Wrong)

Question No. 3

If 16 * 24 = 20, 71 * 19 = 45 and 8 * 52 = 30, then what will be 35 * 277
A)42 B)49
C)51 D)31

i 16 + 24 = 20, 71 » 19 = 45 3 8 « 52 = 30 &, ar 35 * 27 F AT AT HfAT|

A)42 B)49
C)51 D)31
Answer Key : D Your Response : Not Answered

Question No. 4

A boatman covers a distance of 24 km against water current and 36 km along the water current and takes 6
hours each time. Find the speed of water current.

A)2 km/h B)4 km/h

C)1 km/h D)3 km/h

T A 4R F RAed 24 R 3t arr fr R F 36 felr A gt o FRar ¥ 3R & 9K 6 ue o W
AT §1 URT Y T AT RS
A)2 fRelt / ger B)4 fohell / €feT

) - W T T vl = et A 1 el e .
~ s e . I\ R A G e o o T R B S S St | sy /




A)Wednesday B)Monday
C)Tuesday D)Sunday

IfE 6 AT 2005 Fr WHAK &, aF 6 ART 2004 FT AR FT BT AT T 41?

A)gHaR B)HIHIR
C)HITeaR D)fgar
Answer Key : D Your Response : D (Correct)

Question No. 6
Which organism can live without oxygen?
A)Symbiotic B)Parasite
C)Aerobe D)Anaerobe

Fi a1 ST iR & R AT © gFar 2

A)TgSiidi(Symbiotic) B)WSildi(Parasite)
C)argsirdi(Aerobe) D)3targsiidi(Anaerobe)
Answer Key : D Your Response : Not Answered

Question No. 7

Find the missing group of alphabets in the following series.

ZY, XW, UT, (...), LK
A)QP B)NM
C)WV D)SR

fArafaf@d Aol # ity seR-usg AT R

ZY, XW, UT, (.), LK

A)QP B)NM
C)wyv D)SR
Answer Key : A Your Response : A (Correct)

Question No. 8

Find the missing number in the following series.

1, 6, 30, (...), 360, 720
A)124 B)120
C)118 D)103




Arfaf@d Aol 3 IeaRYd & A i)

1, 6, 30, (..), 360, 720

A)124 B)120
C)118 D)103
Answer Key : B Your Response : Not Answered

Question No. 9
Find the least number which when divided by 5, 6, 7, 8, leaves a remainder 3, and is also a multiple of 9.
A)1683 B)1677
C)843 D)1983

T B ¥ B & AT fifSw, Ry 5, 6, 7, 8 § e A w3 A Fuaw @), R HEwr 9 Fr orer
&t &l

A)1683 B)1677
C)843 D)1983
Answer Key : A Your Response : C (Wrong)

Question No. 10
A man invested 1/3 of his capital at 7%, 1/4 at 8% and the rest at 10% thereby getting an annual income of
Rs.561. What was his capital?
A)Rs.5800 B)Rs.5500
C)Rs.4400 D)Rs.6600

T e A I it F 1/3 AT, 7% Y R W; 1/4 T 8% A X W; AR AW swr 10% Hr X W @A
T, foredr 3% ©.561 & affe 3mar s @l 31 3@ i s Afow

A)%.5800 B)%.5500
C)%.4400 D)%.6600
Answer Key : D Your Response : Not Answered

Question No. 11

How many squares are there in the given figure?

A) B)

) - T oW . Y o gt eloeTot A e T30 Y /
Qg I\ R P A G A oy o T e B 1 DB A T b e ,cF; /



& w1 T F T w9 §2

A) B)
9 7
C) D)
3 5
Answer Key : D Your Response : D (Correct)

Question No. 12

HCF of a set of 3 coprime numbers is:

A)Sum of the numbers B)1

C)3 D)Product of the numbers

3 e HEUElt & WHg # . . 9. (HCF) e gl

A)FTITIHT ST AT B)1

C)3 D)TEAI3T T 0TIl

Answer Key : B Your Response : Not Answered

Question No. 13
When did Neil Armstrong and Edwin Aldrin land on the moon?
A)Jduly 20 , 1969 B)June 21, 1967
C)July 14, 1969 D)June 15, 1967

el 3MREET 3R vsfae ofessT o & UgT W FgA @n?

A)20 SeTS, 1969 B)21 S, 1967
C)14 SIS, 1969 D)15 i, 1967
Answer Key : A Your Response : C (Wrong)

Question No. 14
One-eighth of a number is what percent of it?
A)2.5% B)25%
C)12.5% D)1.25%

Ry T T Jreal e, 3% fhae ufoRa F R &7
A)2.5% B)25%
C)12.5%

- W———— i )
.éf&.m:ﬁ FE e




If 2X = 64 and 4Y = 256, then find the value of (1/x) + (1/y).
A)7/12 B)2/5
C)2/3 D)5/12

I 2* =64 IR 4 =256 §, dr (1 / x) + (1 / y) F AR AT el

A)7/12 B)2/5
C)2/3 D)5/12
Answer Key : D Your Response : Not Answered

Question No. 16

The elements belonging to group 17 are called the-

A)Halogens B)Alkaline earth metals
C)Alkali metals D)Noble gases

WHE 17 & HeforT deal F FAT Fgl il 67

A)gelrsteT B)&TRII FeT e1d

C)a RIG! D)31fsha 3

Answer Key : A Your Response : A (Correct)

Question No. 17
The ratio of radii of two cylinders is 2 : 3. Their heights are in the ratio 5 : 3. If one cylinder has a volume of
160 cubic units, what is the volume of the other cylinder?
A)243 cubic units B)400 cubic units
C)216 cubic units D)240 cubic units

ar demt fr Aot F1 3 2 : 3 1 3Th Famsat # 39 5 : 3 ¥1 AR wF o F AT 160 w0
TP &Y, o gAY T N A AT Hifore]

A)243 T SHTS B)400 O« SFI5
C)216 bl 3HS D)240 O« 515
Answer Key : C Your Response : Not Answered

Question No. 18

Raj and Mani are facing to each other, where Mani is facing towards west. Which direction is Raj facing?
A)North B)South
C)East D)West

e 3R AT TwgEy Fr IR IHE FWF IS §, Sei A aReer A 3#7 Hqe B gU ¥l T B R Hr 3R I

o gu &7

A) 3R B)f&IoT

C)qa D)uf®asr

Answer Key : C Your Response : C (Correct)

O ST B e ATy — Ry ; ? / l
I\ R P A G A oy o T e B 1 DB A T b e sy /



C)l m D)3 m

# fig A & 9 Arex e, 3R AT T FqFAR 3 e wam B # o v 3Rk 9 e TeEw Rig B W agl

g A 3k B & & 1 gt Reeelr 87

A)6 #HeT B)9 Hrex

C)1 et D)3 Hrex

Answer Key : D Your Response : D (Correct)

Question No. 20
Which of the following is the unit of measurement of the “Ecological Footprint™?
A)Global Hectare B)Gallon Per Capita
C)Man Hour D)Cubic meter

Pl 3 & T gl geRic” # A1 & g ¥7

A)Telldel gFeIR B)3dea ufa cafea
C)& " D)t #Hiex
Answer Key : A Your Response : Not Answered

Question No. 21
Evaluate: (sin 72° + cos 18°) (sin 72° - cos 18°)
A)1 B)O
C)2 D)-1

(sin 72° + cos 18°) (sin 72° - cos 18°) & A AT AT

A1 B)O
C)2 D)-1
Answer Key : B Your Response : Not Answered

Question No. 22

In which medium does sound travel at maximum speed?
A)Liquids B)Solids
C)Same speed in gases and liquids D)Gases

eafey R ATeTs 3 31f0FaH o1 & IET S 87

Aga B)ar
C)drat 3R gat & F#AreT aifa D)3w
Answer Key : B Your Response : D (Wrong)

Question No. 23
The enzyme present in gastric juice is-
A)Trypsin B)Pepsin
C)Amylase D)Ptyalin




The correct way of making a solution of acid in water is to-
A)Add acid to water B)Mix acid and water simultaneously
C)Add water to acid D)Add water to acid in a shallow container

el 3 39T T AT Tl FT TEY JdFH R &7

A)ITAT 7 3Fer AT B)31Fel iR Ul & teh Iy fHenw
C)3tFar H urell Aoy D)U& 3Uel HceR H 3Fd H Uil Aoy
Answer Key : A Your Response : D (Wrong)

Question No. 25

Choose the alternative that best replaces the question mark(?) in the

N /
'\ 72 | 30 \\144 60

A) B)

given figure.

C) D) 39

ST & T Fafeas 39 &l




C)8 D)9

e 54.k3 + 543 + 5.43 = 603.26 &, o 'K' &1 #AT AT ffow)

A)6 B)5
C)8 D)S
Answer Key: C Your Response : Not Answered

Question No. 27
If in a certain language 'FASHION' is coded as 'FOIHSAN', how is 'PROBLEM' coded in that language?
A)PELBORM BYROBLEMP
C)PRBOELM D)PELOBRM

afe Rl faRea gesmor % 'FASHION' #t 'FOIHSAN' frar srar @, @ 3¥r fesmar & 'PROBLEM' &t &
forar streem?

A)PELBORM B)ROBLEMP
C)PRBOELM D)PELOBRM
Answer Key : A Your Response : A (Correct)

Question No. 28

From where does the Prime Minister address the nation on the 15th of August?
A)Parliament B)Chandni Chowk
C)Red Fort D)Alibag

15 3R ST TUIAHAT Tl ¥ AT I FeEIfd A 82

A)FEE B)diceir die
C)eirer forer D)3reliamer
Answer Key : C Your Response : C (Correct)

Question No. 29

What is the power equivalent to 1 kW?

A)1000 Watts B)100 Watts

C)10000 Watts D)10 Watts

1 freiiare AfFd F R el §

A)1000 are B)100 drc

C)10000 are D)10 are

Answer Key : A Your Response : A (Correct)

Question No. 30

o e Bl Tl eI R e T s T i = ? /
I e e e e D e Lt ] ./




In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some players are singers.
2) All singers are tall.

Conclusions:

I. Some players are tall.

Il. All players are tall.

A)Either conclusion | or |l follows B)Neither conclusion | nor |l follows
C)Only conclusion | follows D)Only conclusion Il follows

39 W #, A Tl F 15 & AR R aw §1 37 ey (o) @ e A, S afee s @ wdifts sage
el

1) ¥ WeE), I+ &

2) Tsir Ik o

forsen:
. $o T o &

1. o FAemsr & §
A)aT o foshy | a1 f@shy || 3T & B)= ar sty | 3R o & sy || 3ugera g1
C)ahael fasshy | 3uged &1 D)ol fssy Il 3uged gl

Answer Key : C Your Response : C (Correct)

Question No. 31
P and Q can do a work in 8 days. Q and R can do the same work in 12 days. P, Q and R together can
complete it in 6 days. P and R together can do it in how many days?
A)4 days B)8 days
C)5 days D)6 days

P 3R Q & F& #r 8 fRet & qur & wava €1 Q 3K R, 3¢ FF #r 12 R&t F qu = @67 §1 P, Q 3R
R fA@a 5@ 6 R@il & @ & W §1 P 3R R Mo 5 fnaer R@il F = w3 87
A4 f&T

) v ey e,

T W= e L R e A W ot
I e O SN M e O O T A L S e e e



A)93.5 cm B)92.5 cm
C)101.5 cm D)91.5 cm

T goa o IR 132 W ¥ 3uF 37 awer A R Rl @eh, S Fig ot 135° 32

A)93.5 T B)92.5 AT
C)101.5 Q& D)91.5 d+T
Answer Key : D Your Response : Not Answered

Question No. 33
Which of the following is a substance abundantly available in the sea and administered in a certain deficiency
disease?
A)Flourine B)lodine
C)Vitamin A D)lron

i@ # & #l @ 9o W #§ e A F sveey § AR SREe Wi arer der F s R
ST 87

A)FeRleT B)3mISteT
C)faarf@s A D) 3R
Answer Key : B Your Response : B (Correct)

Question No. 34

Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. A, B, C, D and E
are sitting in row-1 facing south. R, S, T, U and V are facing north. Each likes different brand of watches—
Titan, Fossil, Citizen, Casio, Fastrack, Swatch, Timex, Tommy Hilfiger, Shinola and Luminox.

U sits third to the right of T and likes Casio. Only two people sit between S and the vacant seat. S does not
like Fastrack or Citizen. E is not an immediate neighbour of C. B likes Luminox. The one who likes Citizen
faces the one who likes Tommy Hilfiger. The one who likes Citizen sits opposite to the one who sits on the
third right of the person who sits opposite to U. C is not an immediate neighbour of D. V, who likes neither
Fastrack nor Swatch, does not face the vacant seat. Neither U nor T sits at any of the extreme ends of the
row. D faces T. Vacant seats are not opposite to each other. Two seats are there between C and B, and B sits
on the third right of the one who likes Timex. The one who likes Shinola faces the one who likes Casio. The
persons who like Titan and Tommy Hilfiger are adjacent to each other. Vacant seat of row — 1 is not an
immediate neighbour of D. S sits at one of the extreme ends of the row. T does not like Titan and Tommy
Hilfiger. Vacant seat of row-1 does not face U who does not sit at any of the extreme ends of the row.

Who among the following sit at extreme end of the rows?
A)Tand D B)C and V
C)Aand U D)B and R

) i’ ‘e - Vel SR vy’ 1.9 h. i /
I e O SN M e O O T A L S e e e sy /



AfRT SEERr Fr e ¥ 96 3R &R B 910 e &1 3«1 &

o 7, ww o7 Hiet arelr o aAEieR Yl 7 3 §1 9% diea ¥ o @i @ 81 A, B, C, D 3R E,
R AN FRFIBI-1IIR AR, S, T, U 3RV 3o f 3R 75 =F B &1 9w 7 ot &
Twg &l

UTFRINIM AT RITEIRA IR g gl Sikah deFdaFaaravr s §1 S
F BrReeF A1 RS wig 7 §1 E, C F Psheas TSRl o16f §1 B & YfReiaw wig gl O Rdee wig
t, 9% 39 oufda & 9 dor §, O oA Rafer wig &1 O R g §, a7 39 Jafea & ade dor
t o 38 g ¥ g IR AW W W dor &, 3 U & wHe dor §1 C, D @ Rdead TR S8 ¥1 V,
O 7 or vredT g § 3R 7 & WY g ¢, @l dic F e 7@ dor §1 U iR T, 9 & Rl o
Y W 7 &5 &1 D, T & Wt 1 el WE, TF gy & ¥t o §1 C 3R B & ot F o W€ §, 3k B,
39 Afed F g8 3R Y TIE W 3T §, O TR Wig 81 98 e, O Rieer v §, 39 A
T dor &, O $RAr wig ¥l o 3R A ReRWR Tg R a1 cafdd thgEt & e F 4§
4fFT - 1 & @Rl e, D 6 Awcan T2 a8 &1 S 9T & v Y W ST §1 T A eges i
Rafrex g 78t §1 9T -1 i @ e, U & aeter 7187 &, S 9fea & Rl o Y = 78t St §1

e 3 @ #la it & Y W 3o §7?

A)T 3k D B)C 3k V
C)A 3R U D)B 3R R
Answer Key : B Your Response : Not Answered

Question No. 35

Beryllium is very similar to-

A)Aluminium B)Zinc

C)Radon D)Lithium

MNReTA FFregar & AW §l

A) T B)StEar

C)E D)elifager

Answer Key : A Your Response : D (Wrong)

Question No. 36
Going downstream a boat covers 50 miles at a speed of 60 mph. While returning it takes 1 hour 15 minutes to
cover the same distance. What is the average speed for the whole journey?
A)62 mph B)48 mph
C)42 mph D)55 mph

arRT Y 2w #F wF AT 60 Her ufer @ A Gqrer ¥ 50 Hier Fr gf T A B clle WHT FA g T A
% 3 1 der 15 Aete F1 99 F9rar ¢l qff aEr & fav e 9 A fifew

A)62 #ier wfar eer B)48 #frer ufa Her

C)42 e wfd eer TR TR

i T el | o Y gl DAL e I s i 3
I e O SN M e O O T A L S e e e




A)Sri Lanka B)Germany
C)India D)China

foeeT Rw 1w &=if 3 Rreer weelr IR g F gEEieleT ARRT { T arelr & F RAcisw 2018 I warqor R
an?

INEIGED B) =T
C)HR D)<
Answer Key : B Your Response : B (Correct)

Question No. 38
If one unit of electricity costs Rs.5 and the total electrical energy consumed in 1 month is 250 kWh, what is
the cost of electricity in that month?
A)Rs.1100 B)Rs.1250
C)Rs.1000 D)Rs.1500

IR v 3 Rl # e 3.5 ¢ IR 1 7N F @F @ Al Fo Rgga Fer 250 kWh €, @ 39 A

= el & {er fraer gem?

A)%.1100 B)%.1250

C)%.1000 D)%.1500

Answer Key : B Your Response : B (Correct)

Question No. 39
Who was the first Asian to swim across the English Channel?
A)Anita Sood B)Mihir Sen
C)Arati Saha D)Taranath shenoy

Serer Aot A R FT IR A drel/arel Igel TRIIS i avd?

A) 3T g8 B)fARRT a1
C)3Rcr dTer D)aRAY AT
Answer Key : B Your Response : Not Answered

Question No. 40
Which of these is used to impart sour taste to food?
A)Curry leaves B)Jackfruit
C)Tamarind D)Coconut

S & @1 WIg aa § v g A frasr 3w B S §?

A)FT Yed B)a&hcgd
C)g#elr D)=TRrer
Answer Key : C Your Response : C (Correct)

Question No. 41

Keeping the potential difference constant, the resistance of a circuit is halved. What happens to the current?
A)lt gets doubled B)lt gets halved

) - o ) g, P = ey ey s 3 :'7 / l
M\t harnmae nna_frr ||‘ Er Rt P P P S e g e e L T PR sy /



C)us =iurg gr rweir D)aR =T g1 Sresir
Answer Key : A Your Response : B (Wrong)
Question No. 42

How many medals did India win in the Asian Airgun Championship, 2019?
A)20 B)25
C)23 D)21

TRIYE WA APRART, 2019 # SR o fFder e ha?

A)20 B)25
C)23 D)21
Answer Key : B Your Response : Not Answered

Question No. 43
Which set of sign conventions is followed while dealing with reflection of light by spherical mirrors?
A)System convention B)Sign convention

C)Mirror convention D)New Cartesian sign convention

el gUlt SERT WhRT F WacsT & aNreT fh fRies aRarer @ arereT fFar ST 82

A)OTTeIRTT IRYTEr B) =g aiurer
C)edor aRaér D)erdier st g GRaTeY
Answer Key : D Your Response : B (Wrong)

Question No. 44

Choose the figure that best represents the relationship among the
classes given below.
Officers, Government employees, Men

A) B)

C) D)

3H AGHIa & T84 HY, A AEaiad A § @ 5 gew #@)




C) D)

Answer Key : B Your Response : B (Correct)

Question No. 45
Why do we fall down when we step on a banana peel?
A)The banana peel exerts a magnetic pull force on theB)The banana peel has a good grip
legs and makes us fall down
C)The banana peel is smooth and friction on it is veryD)The banana peel has a greater friction
less, that we don't get the grip to stand

99 &0 Fo F Bad W R @ § o 57 B =i Iy §2

A)arel &1 el R 9 T Jahra 3THY0T a8 FaNaTB) el & Bolh I Gehs 3r<aT gl ol
¢ 3R & i AT & §l

C)shel T fSerhl fehell gl & 3R 3@ W o1 SgaAD)hel & fBweieh & 31 ador g ¥
HA g § afoT g7 WS g & fow 3aeTeh Ushs
& e &

Answer Key : C Your Response : C (Correct)

Question No. 46

Which of the following banks is a nationalised bank?

A)All of the options B)Dena Bank

C)Bank of Baroda D)Allahabad Bank

faeafaf@a daf & & Florar v whTFa IF &2

AT T B)geT s
C)d® 3w a3ler B ECICIACE
Answer Key : A Your Response : A (Correct)

Question No. 47
A train moving with a speed 54 km/h crosses a platform and a man on the platform in 36 seconds and 20
seconds respectively. How long is the platform?
A)270 m B)240 m
C)300 m D)180 m

54 fReY / weT fT O ¥ I WY TH IR, Th WehE AR edE W @S UF EHT Fr Haer: 36 A5
3R 20 3 F IR WA &1 EwEH f dES AT D]

A)270 #HIeX B)240 #HeX
C)300 #Hrex D)180 #Hrex
Answer Key : B Your Response : Not Answered

T P T L
) Ry, W .
I




AR Fr 511 A FleT W S &R A W&l & AT uAg &7

A)dreirsfra B) el
C)frerrsir D)qcaT
Answer Key : B Your Response : B (Correct)

Question No. 49

Choose from the alternatives the figure that best completes the

pattern given below.

/ N
4 < 9
> L <
4
« | %4
N P
N . B)
< <
< <
A/ \
C) D)
/ ,\ \
> B
N /]

Tl

L =
4
4 | ?
> 4 <
4
v« | 4
AN AN
A) v < B)
< <
< «
| N
0) D)
Y R
g >
N /
Answer Key : A Your Response : A (Correct)

Question No. 50

Complete the series.




C)112 D)118

Aofr @ Qo ¥

4, 5, 8, 17, 44, (.)

A)125 B)105
C)112 D)118
Answer Key : A Your Response : A (Correct)

Question No. 51

What happens when calcium is treated with water?

i) It does not react with water.

i) It reacts violently with water.

iii) It reacts less violently with water.

iv) Bubbles of hydrogen gas formed stick to the surface of calcium.

A)(i) only B)(ii} and (iii)
C)(i) and (ii) D)(iii) and (iv)

I HTRRIA Y ge ¥ 3TRT FFaAT S1ar § ar =T 8T §7?

) I8 el F Wy FRRHAT FE Far B

i) IE IR F T o F AR Far ¥

i) IE 9 & TWT FA Ao ¥ AFATHAT e gl

iV) STl ST FISEISNT AW F Folga, HiowAH F Fag W &AF s §

A)Faa (i) B)(ii) 3R (iii)
C)(i) 3R (ii) D)(iii) 3R (iv)
Answer Key : D Your Response : Not Answered

Question No. 52

Which of the following is about 23 feet long in an average adult human being?
A)Liver STy ey et

) - T, W Y ) TP o gt =leTo < Y,
I | g e TR TR Em s e s A b = e Y B e pell




A) TS B)aST 31

C)3rdiised D)BIEr 31ia

Answer Key : D Your Response : B (Wrong)

Question No. 53
Find the smallest number that is exactly divisible by each of the numbers 12, 15, 20 and 27.
A)530 B)520
C)510 D)540

% 818 & S " A ST, S FEmsit 12, 15, 20 3R 27 % & v_@F & ol Ry @

A)530 B)520
C)510 D)540
Answer Key : D Your Response : D (Correct)

Question No. 54

Which of the following materials is used for making the heating element of an electrical iron?
A)Aluminium B)Silver
C)Nichrome D)Copper

SAfaed IR T e Tidie T F fav RRf@d F § 59 yerd @1 39=er frar siar &7

A) TegiarTs B)=ier
C)aTSshiaA D)drsT
Answer Key: C Your Response : C (Correct)

Question No. 55
If 36 men can do some work in 25 days, then in how many days will 15 men do it?
A)50 days B)54 days
C)56 days D)60 days

Ry 36 qoW, Rl S 3 25 Rt 3w T &, o 15 GOV 3e A A Ry Rt F FH?

A)50 f&at B)54 f&a
C)56 fear D)60 f&eT
Answer Key : D Your Response : Not Answered

Question No. 56
If a right triangle is right angled at A and AC = 6, BC = 10, find the value of tan B x tan C.
A)1 B)4/5
C)3/5 D)1/2

Ify v FHAIOT RS, A X WAHIOT § 3 AC = 6, BC = 10 &, @ tan B x tan C & A AT R

A)1 B)4/5
C)3/5 D)1/2
Answer Key : A Your Response : Not Answered

) - T, W Y ) T o v il el
I\ e O SN M e O O T A L S e e e



TF SAMRY 39N AT H 20% F o W AT FT Hder Far g1 Afder AWF Afor & FRO1, 96 {7 7 3R
10% #r g Far &1 3WH Y& T WfoRIdT AT Rifwl

A)32% B)25%
C)30% D)28%
Answer Key : A Your Response : Not Answered

Question No. 58
Which among the following is an extra-constitutional body?
A)Language Commission B)Election Commission
C)Finance Commission D)Planning Commission

A & & FiT W IfRTT ddas fFE &2

A)HTST 3TNET B)TATa 3T
C)faed 3mater D)sfife 3mmier
Answer Key : D Your Response : A (Wrong)

Question No. 59
Which of the following laws says that "Every object in the universe attracts every other object with a force
which is proportional to the product of their masses and inversely proportional to the square of distance
between them?"
A)Universal Law of gravitation B)Kepler's Law
C)Newton's third Law of motion D)Newton's first Law of motion

Prfaf@a # ¥ Fla @ Fm Fwar § & sEAE F Rue 90F T, T gl O W 0F T F AHNd
T &, S 3% GeIART F IUERA & AR AR 3 €T Hr gff F I F oA g 87

A)&Tafe Trecarehyor o B)&hte &l g
C)=ggeT ol ITfd & ST @7 D)egesT T it ol ggell foge
Answer Key : A Your Response : A (Correct)

Question No. 60

Malaria can be cured by administering -

A)Streptomycin B)Quinine

C)Paracetamol D)Penicillin

FRAT # % 39ENT EaRT S AT ST W §

A)FIATS AT B)etet

C)dufder#Are D)afafafersT

Answer Key : B Your Response : C (Wrong)

Question No. 61

Na, Mg, Al, Si, P, S, Cl and Ar belong to the period of the modern periodic table.
A)Third B)First
C)Second D)Fourth
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Question No. 62
The average age of 4 persons is 42 years. If their ages are in the ratio of 1 : 3 : 4 : 6 respectively, find out the
difference between the ages of the eldest and the youngest person.
A)61 years B)60 years
C)59 years D)70 years

4 safFaar v siwa g 42 aF &) A 3Th g FAM: 1 : 3 141 6 F AU F §, A G I3AF 3R
Wl FoT I & SATAT B 3 F IR AT Hiiore]

A)61 a¥ B)60 ay
C)59 ay¥ D)70 ay
Answer Key : B Your Response : Not Answered

Question No. 63

Find the greatest of these decimal numbers.

A) B)

(0.2) 0.2)*

0) D)

SAH W HeW I Ao HEAT A Shiferd|

A) B)
(0.2)? ©.2"
C) D)
0.2 0.2
Answer Key : B Your Response : C (Wrong)

Question No. 64
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Answer Key : B Your Response : B (Correct)

Question No. 65

Find the ODD one out from the given options.

A) B)
asS WM
) D)
ar HF
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es WM
0) D)
ar qJF
Answer Key : B Your Response : B (Correct)

Question No. 66
If 'A' is substituted by 1, 'B' by 2 and so on up to 'Z', which is substituted by 26, what will be the sum of the
numbers substituted for the word 'PROBLEM'?
A)75 B)86
C)90 D)81

IREA 17, B 2 IR T RE 'Z aF 3R FF Tt F yfruRa R Rar siar g, Z #r 26 @
farafa fFar ST §, @ 'PROBLEM' 2eg & foiw wfaeaifa Seamsit #1 et frder gen?

A)75 B)86
C)90 D)81
Answer Key : D Your Response : D (Correct)

Question No. 67

Which of the following will best complete the relationship given below?

BPC:CQD:RIS:?
A)TKS B)TJS
C)SJT D)SKT

farafaf@ed F ¥ i @ RFew @ Re 1w Weier Fr wafes dor & qof Fam?

BPC : CQD :: RIS : ?

A)TKS B)TJS
C)SJT D)SKT
Answer Key : C Your Response : C (Correct)

Question No. 68
Who was the first Indian to make a movie?
A)S.S. Vasan B)Ardeshir Irani
C)Dhundiraj Govind Plhalkni n D)\/.(ﬁhantar?n;
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Answer Key : C Your Response : C (Correct)

Question No. 69

Complete the series.

3,5, 13, 49, (...)

A)241 B)248
C)253 D)269
Fofr =1 qof ¥

3, 5, 13, 49, (.)

A)241 B)248
C)253 D)269
Answer Key : A Your Response : Not Answered

Question No. 70
Suresh took 15 seconds to cross a rectangular field diagonally walking at the rate of 52 m/min, and Rajesh
took the same time to cross the same field along its sides walking at the rate of 68 m/min. Find the area of the
field.
A)50 m? B)60 m?
C)40 m? D)30 m?

QI A 52 AUAAE i I F T F JTAHR A F1 RFoid: IR w7 15 Jhs 1 G717 o,
3R Torr & 68 HeVMee A T F I AT Fr Mt W TAH IR A F 3 & T | A
CELTESICIESIE !

A)50 gaT Hrex B)60 T #Hex
C)40 @3t #Hiex D)30 Tt FHiex
Answer Key : B Your Response : Not Answered

Question No. 71

Find the value of 5y.fy’-y" wheny = 5.

A) B)

50 50~/2
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C) D)

A) B)
50 502
C) D)
500 250
Answer Key : D Your Response : D (Correct)

Question No. 72

Which word will best complete the relationship given below?

Kathakali : Kerala :: Kuchipudi : ?
A)Manipur B)Assam
C)Andhra Pradesh D)Uttar Pradesh

HleT W oreq A R Tw e F wafead dor A qUT Wem?

Fhell : A 1 PRGS : ?

A) AR B)3raH
C)3Trer geer D)3ca’ gger
Answer Key : C Your Response : D (Wrong)

Question No. 73

Which of these flowering plants is a creeper?

A)Sunflower B)Rose

C)Jasmine D)Hibiscus

T Gerar diet 3 F @l o @ &2
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In which of the following states is the Gir National Park located?
A)Gujarat B)Kerala
C)Punjab D)Karnataka

AR T 35w Pefafla & & e o # Rua

A) IR B) el
C)uaTa D)&eTesh
Answer Key : A Your Response : A (Correct)

Question No. 75
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
The best way to escape from a problem is to solve it.

Conclusions:
l. Your life will be dull if you do not face a problem.
Il. To escape from problems, you should always have some solutions with you.

A)Both conclusions | and Il follow B)Neither conclusion | nor Il follows
C)Only conclusion | follows D)Only conclusion Il follows

39 WA A, TF FUT F 915 aF sy Ru v §1 3w ey A (3 At @) 9o o afde w7 @ @
3G &
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Afasry | 3R 11 @&t suged & B)a sy | 3 o € Il 3uged &
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Answer Key : B Your Response : A (Wrong)

Question No. 76

Pl
i y

In an election, a candjy’;
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UF IAG H, U FHIGAR 75% U Al § R geml Feor 560000 A F N, 15% AT W A Rerd
3FfigaR & fAer A aiel fr @A fraer 82

A)350000 B)280000
C)357000 D)275000
Answer Key : C Your Response : Not Answered

Question No. 77
Which of the following Indian Education Technology Start-ups has received the Next Billion Edtech Prize
2019?
A)Dost Education B)Collegedekho
C)Meritnation D)Byju's

frfaf@a F & o sRer R sl were-3m i A Rfews s &R 2019 Aar?

A)EIEdT T[eherel B)ahiclsica@r
C)Afeaee D)aTgsl
Answer Key : A Your Response : D (Wrong)

Question No. 78

Rutherford model of an atom does NOT describe the-

A)Presence of nucleus B)Charge of the atom
C)Presence of electron D)Stability of the atom

TIBE TA] AiseT T qUIeT & T gl

ATt T 3ufeufa B)SRATI] & 3MTaer

C)golaeld &I 33U D)) & TR

Answer Key : D Your Response : C (Wrong)

Question No. 79
Which of these insects have teeth?

A)Butterflies B)Wasps and Beetles

C)Flies D)Bees

3 W R fIE F gid o &7

A faaferr & B)areral wd &kt &

C)nfresit & D)FeFfFEt &

Answer Key : B Your Response : B (Correct)

Question No. 80
An article listed at Rs.65 was bought for Rs.56.16 after two successive discounts, of which, the first is 10%.
What is the second discount?
A)4% B)2%
C)9% D)6%

365#?@wﬁﬂéwaﬁﬁa$ﬁ$§ﬁ$m$561sﬁmwm et & Teelr g 10% ¥
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Question No. 81

Which acid is found in the sting of an ant?

A)Sulphuric acid B)Formic acid

C)Ethanoic acid D)Hydrochloric acid

4 & 5% F @l W 3w 9w Srer 2

A) T 3Fel B)WiTdeh 37Fe

C)3delgsh 3+ el D)gIsgiaaliNe 31Fel

Answer Key : B Your Response : B (Correct)

Question No. 82

The FIFA World Cup will take place every years.

A)Three B)Two

C)Four D)Five

AT faRg FT &1 3RS &) e # ger g

AT B)ar

C)arR D)ar=r

Answer Key : C Your Response : C (Correct)

Question No. 83
Which of the following mobile applications won the Platinum under Best Mobile App category in Digital India
Awards 20187
A)SKkill Pill B)eCourts Services
C)Moodle Mobile D)E.Learning Age

o ST EEy 2018 # Raf@d & ¥ fFy Alesa tRERE o T Alesd W ot F dgd wifess
Sier?

A) et Trer B)s-IcH AT
C)Hgel HIdScT D) &feier Tat
Answer Key : B Your Response : Not Answered

Question No. 84
In a group of students, 1/5 are aged below 8 years. Of the remaining 2/5 are above 8 years. What fraction of
the students are exactly 8 years of age?
A)12/25 B)2/5
C)3/5 D)4/25

ol F T Wg &, 15 F I 8 ¥ ¥ FH ¥ AT oE F & 25 Hr 3y 8 a¥ ¥ HAF ¥ owt F e

e fir 31y &% 8 af §7?

A)12/25 B)2/5

C)3/5 D)4/25

Answer Key : A Your Response : Not Answered
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C)Rs.2000 D)Rs.1980

e fAfRaa IR W 10% Hr T & 2 a6t 7 THgfE sarer $.2100 §1 3 AR | GAT R R FAGT afer r
HTEROT SATST F=T B1eM?

A)%.1600 B)%.1800
C)%.2000 D)%.1980
Answer Key : C Your Response : Not Answered

Question No. 86

What is the colour of vapours formed on sublimation of iodine solid?
A)Yellow B)Orange
C)Colourless D)Purple

ITAET 3 F FEIUTAT YT Gefot aTell aIST T 9T HEAT gl 872

A)drer B)aARai
C)aaT D)daretr
Answer Key : D Your Response : A (Wrong)

Question No. 87

Which of these is associated with colour vision?

A)Optic disc B)lris

C)Rods D)Cones

ST & FleT AT qui-gRieT & el 82

A)3fiftes 3T B)3msRe

C)QIelTehT ShIfehTd D)% FHifRrshre

Answer Key : D Your Response : D (Correct)

Question No. 88

Complete the series.

14,6,4,4,8,(...)

A)42 B)34
C)48 D)38
oy i qot #

14, 6, 4, 4, 8, (..)
A)42

C)48

Answer Key: C




A)21, 23 B)20, 22
C)24, 26 D)23, 25

ar Sl Y 3R FT IR 2 aF §1 BF I 916, AT 3 FT AT 46 P I FeleareT Y AT Pforw]
A)21, 23 B)20, 22

C)24, 26 D)23, 25

Answer Key : This Question is dropped and

Your Response : Not Answered
will not be consider during the evaluation

Question No. 90
Instead of dividing a number by 21, a student did the division by 12 and got the answer 35. What is the
correct answer?
A)26 B)15
C)20 D)25

TF OF ¥ UF GE # 21 ¥ Rl F & sor, 12 ¥ Renfoa fer it 3% 3w 35 wie gaml W
3R AT P

A)26 B)15
C)20 D)25
Answer Key : C Your Response : Not Answered

Question No. 91

Complete the series.

AZD, BYE, CXF, (...)

A)EWH B)DVJ
C)DWG D)ZAW
Aroft = quf =)

AZD, BYE, CXF, (.)

A)EWH B)DVJ
C)DWG D)ZAW
Answer Key : C Your Response : C (Correct)

Question No. 92

Find the ODD one out from the given options.

A)ILOR B)GJMP
C)FILN




Answer Key : C Your Response : C (Correct)
Question No. 93

Simplify: sin 15° sin 75° + cos 75° cos 15°

A)1/2 B)3/4

C)1/4 D)-1/2

Il FIfST : sin 15° sin 75° + cos 75° cos 15°

A)1/2 B)3/4
C)1/4 D)-1/2
Answer Key : A Your Response : Not Answered

Question No. 94

Which Chinese traveller came and stayed in Nalanda both as a student and a teacher?
A)Kublai khan B)I-Tsing
C)Fa-Hien D)Hiuen Tsang

o @ Pl ar A In Arcer 3R 3R o AR Rt F F 7 we

A)Feers @I B)sfoger
C)wIfgareT D)ea=TareT
Answer Key : D Your Response : Not Answered

Question No. 95

Deepika Kumari is associated with which sport?

A)Tennis B)Archery

C)Hockey D)Chess

AT FA e A ¥ et §2

Aycfaa B)dRGrSir

C)gienr D)rast

Answer Key : B Your Response : B (Correct)

Question No. 96

Atoms of the same element or of different elements can join together to form a/an-

A)Electron B)Proton

C)Molecule D)lon

& & aed A R dwl & /] Aea T €l

A)gelergiel B)gitefet

C)31T] D)3t

AnswerKey: C Your Response : C (Correct)

Question No. 97
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Read the following information carefully and answer the question given below.

Six boys—U, V, W, X, Y and Z are standing in one row and six girls—I, J, K, L, M and N are standing in
another row in such a way that each girl faces one boy, not necessarily in the same order. | is to the
immediate right of the girl who is facing Y the boy at the extreme right. Only V is between X and Y. Z is to the
immediate left of U and to the immediate right of W. K is facing U and is to the immediate left of J. N is third to
the left of L.

Who among the following is facing J?
AW B)Z
C)X D)V

fAefaf@d SEel o eae ¥ 9¢ 3R AT Be 71w woaq & 3&R) &

g sy U, V, W, X, Y 3R Z o dfea # 3ik a7 e=fai- 1, J, K L, M 3R N v q@dr dida F 39 war
TS ¢ & 9% a5 U 95d T AR AHE R gU §, S0 e TR 1 A A Q1 |, 36 95H F OF o AR
G ANTENREBFYRINF ARG FaV, XIRYFdadardl z Us s
TWHNIRNWFIF R INTT K UAINF R TEAINIFIF IR AN TIEIN, L F a5
IR A I ' W) G gl

PR ¥ & T J A 3R 35 AR g &7

AW B)Z
C)X D)V
Answer Key : B Your Response : B (Correct)

Question No. 98
If x® +y® =9 and x +y = 3, then find the value of X2 + y2,
A)5 B)6
C)25 D)3

IR +y =93 x+y=3% ar + y? & A AT HiSw|

A)5 B)6
C)25 D)3
Answer Key : A Your Response : B (Wrong)

Question No. 99
If 'LOSE' is coded as 1357 and 'GAIN' is coded as 2468, which of the following stands for 84615?
A)SLAIN B)LANES
C)SNAIL D)NAILS
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C)SNAIL D)NAILS

Answer Key : D Your Response : D (Correct)

Question No. 100
Which device in vehicles converts poisonous gases due to buming of petrol or diesel into harmless gases?
A)Radiator B)Catalytic converter
C)Carburettor D)Inverter

arget # Flog Pl A1 3UERT g A1 Soie F o & SeueT el It Fr woRRe A6t & Raftia wRar
Y4

AT B)3co® IRac®

C)FeEIX D)g1erex

Answer Key : B Your Response : Not Answered




